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Cluster: 0052 ptr; resid: 0.42; r/c: 32/61
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upstream meme PSSM #1; e=0.0011
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23783NA
32120−0.08
42927−0.10
39325−0.16
52343−0.23

4003−0.24
42644−0.29
23203−0.37
37885−0.38
45247−0.40
45875−0.41
45960−0.42

5527−0.47
48042−0.51
49224−0.55
31437−0.72
15613−1.01
49547−1.26
33876−1.33
38445−1.35
48173−1.45
10532−1.48
16922−1.57
38787−2.01
35262−2.40
34302−2.60
41192−2.62
50469−3.03
43123−3.06
47859−4.36
18808−6.23
43532−7.18

log10(P) upstream meme1 2 log10(P.clust)=−1.56; 32 seqs; 32 uniq
c(0.5, 2.5)
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